instructables

technology workshop craft home food play outside costumes

Wheel. Arm

by ted99tw on April 23, 2016

Table of Contents

Nl AT L 1
INtrO: WhEEL AT 2
SteP Li OUL Of DOX . . ot 2
StEP 2: 2 WIS . . . 3
Step 3: The Brd Wheel . . .. 4
SteP 4 Left SBIVO . . . 6
Step 5: Add Arduino board . . .. ... 7
Step 6: POSItIONING 90 JEUIEE . . . . ottt 9
StEP 7: RIGNE SBIVO . . . 10
SEEP 8. HOUSING . . .ot 11
Step 9: AttACh 10 the DaSE . . . . . 12
Step 10: Mit SUPPOIT . . . oo e e e 14
Step 11: Upper left StCK . . . . 14
Step 12: RIGht UPPEr SHCK . . o o e 16
SEEP 131 BrA SEIVO . . . o ottt e e 16
Step 14: Aach 3rd SErvV0 Plate . . . ... oo 18
SEEP 15 GlIPPOr . . ettt et 19
Step 16: AHACH GrIPPEr . o . o 20
SEEP L17: VACUUM . .ottt ettt e et et e e e 21
Step 18: UItra SOUNA SENSOT . . . . . ..ttt et e e e e e e e e e 23
Step 19: Batlery CharQer . . . . oo e 24
Related INStructables . . . ... . 24

AQVEIISEIMENS . . . . .ot e 25

COMIMEBNES . o oo 25


http://www.instructables.com/tag/type-id/category-technology/
http://www.instructables.com/tag/type-id/category-workshop/
http://www.instructables.com/tag/type-id/category-craft/
http://www.instructables.com/tag/type-id/category-home/
http://www.instructables.com/tag/type-id/category-food/
http://www.instructables.com/tag/type-id/category-play/
http://www.instructables.com/tag/type-id/category-outside/
http://www.instructables.com/tag/type-id/category-costumes/
http://www.instructables.com/member/ted99tw/?utm_source=pdf&utm_campaign=title

i
-.'% Author:ted99tw

i -N maker for educational kit since 2014

Intro: Wheel Arm
Wheel.Car is derived from MeArm. All the bones are laser cut with 2 A4 3mm acrylic.

The project is now on crowdfunding in Taiwan and will open source after May.20.

crowdfunding (Chinese)

Step 1: Out of box

1 vacuum

2LiOnx 4

3 4-pin DuPon female-to-female cable
4 USB cable

5 MG996 servo x 3

6 wheel 65mm x 2

7 TT motor x 2

8 battery case x 2

9 batter charger

10 untra sound sensor

11 wing for servo x 3

12 free rotation wheel

13 Arduino expansion board
14 Arduino Uno

15 Nylon hex nut 30x6

16 copper column

17 nuts (various size)

18 Nylon hex nut 10x6

19 screws (various size)

20 rubber


file:/member/ted99tw/
file:/member/ted99tw/
https://www.flyingv.cc/project/11932

Step 2: 2 wheels

materials:
1. 2 wheels

2. 2 motors

3. 4 supports

4. M3x30 x 3

5. M3 nuts x 4




Step 3: The 3rd wheel

materials:
1. caster
2. cooper M3x10 x 4

3. screw M3x6 x 8

http://www.instructables.com/id/WheelCar/







Step 4: Left servo
materials:

1.servox1
2. M4x6 x 4
3. M3x6

4. acrylic No.1, No.15

http://www.instructables.com/id/WheelCar/



Step 5: Add Arduino board

materials:

1. Arduino Uno

2. Arduino Expansion Board
3. Nylon screw and nuts x 4
4. LiON battery x 4

5. battery holder x 2

http://www.instructables.com/id/WheelCar/



.
»
’
.
]
.
-




Step 6: Positioning 90 degree

1. motor power on
2. mcu power on

3. 90 degree position

(A




Step 7: Right servo

materials:
1. servo

2. M4x6 x 4

3. acrylic No.2, No. 4




Step 8: Housing

materials:

1. acrylic No.9

2. M4x20 x 4

3. M4 nuts x 4




Step 9: Attach to the base

materials:
1. acrylic No.3, No.5
2. M4x6 x 1, M4x20 x 2

3. M4 nuts x 2







Step 10: Mid support

materials:
1. acrylic No.12
2. M4x12 x 2

3. M4 nuts x 2

Step 11: Upper left stick

materials:
1. acrylic No.8, No.6, No.61
2. M4x6 x 1, M4x6 x 1, M4x14 x 1






Step 12: Right upper stick

materials:
1. acrylic No.7
2. M4x6 x 1

Step 13: 3rd servo

materials:

1.servox1
2. M4x6 x 4
3. M3x6 x 1

4. acrylic No.11, 18

http://www.instructables.com/id/WheelCar/






Step 14: Attach 3rd servo plate

materials:
1. M4x12 x 2

2. M4 nuts x 2




Step 15: Gripper

materials:

1. nylon M3 nuts x 4
2. nylon stickx30 x 4
3. nylon M3x6 x 4
4. rubberx8

5. acrylic N0.16x2, 17x2




Step 16: Attach gripper

materials:

1. M4x6 x 4

http://www.instructables.com/id/WheelCar/




Step 17: Vacuum

materials:
1. vacuum
2. M4x12 x 2

3. M4 nuts x 2







Step 18: Ultra sound sensor
materials:

1. ultra sound sensor
2. dupon 4-pin cable

3. M4x6




Step 19: Battery charger

]

¥

;T‘.v

o |
]

w7
0
YA 8
]

t

e ]

h CONTROLED
eI WITH

{=Y+) ARDUTNO !
Making a MeArm.Joystick Hand-Made Controlling Assemble and Controlling
MeArm Joystick recording by MeArm by Dzefri MeArm With Install Your MeArm Using
Pad by ted99tw Arduino by meArm by Mobile
KevinC77 Dzefri WayneHuang Application -

Arduino and
OneSheeld by
Ammar Atef Ali


http://www.instructables.com/id/Making-a-MeArm-Joystick-Pad/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Making-a-MeArm-Joystick-Pad/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Making-a-MeArm-Joystick-Pad/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Making-a-MeArm-Joystick-Pad/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/member/KevinC77/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/MeArmJoystick-recording/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/MeArmJoystick-recording/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/MeArmJoystick-recording/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/member/ted99tw/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Hand-Made-MeArm-Controlled-With-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Hand-Made-MeArm-Controlled-With-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Hand-Made-MeArm-Controlled-With-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/member/Dzefri/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/MeArm-Controled-With-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/MeArm-Controled-With-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/MeArm-Controled-With-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/MeArm-Controled-With-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/member/Dzefri/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Assemble-and-Install-Your-meArm/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Assemble-and-Install-Your-meArm/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Assemble-and-Install-Your-meArm/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Assemble-and-Install-Your-meArm/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/member/WayneHuang/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Controlling-MeArm-Using-Mobile-Application-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Controlling-MeArm-Using-Mobile-Application-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Controlling-MeArm-Using-Mobile-Application-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Controlling-MeArm-Using-Mobile-Application-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Controlling-MeArm-Using-Mobile-Application-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Controlling-MeArm-Using-Mobile-Application-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/id/Controlling-MeArm-Using-Mobile-Application-Arduino/?utm_source=pdf&utm_campaign=related
http://www.instructables.com/member/Ammar Atef Ali/?utm_source=pdf&utm_campaign=related

Comments



